MATO0024 Beginning Algebra (Carson) Name
Chapters 7 & 9 Exam (V1) Date:

You MUST show your work to receive any credit. This exam is worth 100 points. Each problem is
worth 4 points.

Multiply.
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Simplify, if possible.
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x2-100  5x-50
X2 -18x+81 2 -5x-36
) x=9 ) (x= 10)(x - 4)
(x+10)(x + 4) 5(x + 9)

Add or subtract. Simplify your answer to lowest terms.
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Evaluate the rational expression.
_IX*0 henx = -4
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42 42
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Perform the indicated operation. Simplify, if possible.
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9x ~ 36
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9x - 36
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Simplify.
7_Xx
x 7
13) l_l
7 X
A) -(x-7) B) 7x(x +7) C)x+7

Evaluate the square root, if possible.

14) -, /8—41

A) - B) - — C) 4

S5

Simplify. Assume variables represent nonnegative numbers.

2v8
15) 484x-y'

36126
A) 22xy4 B) 22xy4 0 23xy4
2023 1923 1923
Solve the problem.

16) The diagram below shows a rope connecting the top of a pole to the ground. How tall is the pole?

! 21 yd
16 yd
A) A[185 yd =925 yd B) /185 yd ~ 13.6 yd
C)A[5yd ~22yd D) A/697 yd = 26.4 yd

Simplify.

17) [ 150x3y5

A) 150xy B) 5xy2+/6xy C) 6x2+[5y

32

D)
m - n2

D) -(x +7)

D) -

g

D 242xy4
18023

D) 5xya/6xy
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Multiply and, if possible, simplify. Assume that all variables represent nonnegative numbers.

18) ~/18qrs - A/ 72q3rs3 18)
A) 72¢3rsd B) 18q4r2s6 C) 36q2rs3 D) 1842¢2rs3

19) A /2x2y A ’10x7y6 19)
A) 2x4y31[5xy B) 24 /5X9y7 C) 4x8yba[5xy D) 2x4y31[5

Simplify the square roots, then combine like radicals.

20) -3+[6 -7A[54 20)
A) -244]6 B) 24[6 C) 64/6 D) -10~/6
Simplify.
21) -184/17 - 64[17 21)
A) 134]17 B) -12+/17 C) 23[17 D) -244[17
Multiply.
22) W6x - 3)(\[2x + 3) 22)
A) xal6 - 62[(8)x + 3x[6x - 9 B) A3 - 3a/2x + 3[6x+9
C) 2x/3 = A2x +Af6x -9 D) 2xa/3 = 3x/2x + 34/6x - 9
23) 6A[7 W11 +4/7) 23)
A) 677 +7 B) 6A/77 + 42 C) 6Af11 + 7 D) 424/11 + 42

Simplify. Assume variables represent nonnegative numbers.

24) «3/125 24)
A) 11 B) 5 C) 45 D) 25
Solve.
25) Afx = 4 25)
A) 8 B) 4 Q) 16 D) -16



